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Student Name: ________________________________________   Class: ______ 

Revision Worksheet 

Grade 10 Advanced Mathematics (2019-2020) 

Chapter 4: Inverses and Radical functions and relations 

Instructions: Read all questions carefully. Answer all questions 

                                                                                       Chapter:4, 4.1 

1. If 𝒇(𝒙) = 𝒙 − 𝟏   and g(x) = 𝟓𝒙 − 𝟐 then Find 

 

a) (𝒇 + 𝒈 )(𝒙)                                                                               c)  (𝒇 − 𝒈 )(𝒙) 

 

 

 

 

 

 

 

b) (𝒇 ∙ 𝒈 )(𝒙)                                                                                 d)  (𝒇𝒈) (𝒙) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



2)  Find  𝒇 𝒐 𝒈  and  𝒈𝒐𝒇 

a) If 𝒇 = {(−𝟖, −𝟒), (𝟎, 𝟒), (𝟐, 𝟔), (−𝟔, −𝟐)                                          b) 𝒇 = {(−𝟕, 𝟎), (𝟒, 𝟓), (𝟖, 𝟏𝟐), (−𝟑, 𝟔)} 

                  𝒈 = { (−𝟒, −𝟒), (−𝟐, −𝟏), (−𝟒, 𝟎), (𝟔, −𝟓)}                                     𝒈 = {(𝟔, 𝟖), (−𝟏𝟐, −𝟓), (𝟎, 𝟓), (𝟓, 𝟏)} 

 

 

 

 

 

 

 

 

 

 

 

 

3)      𝑰𝒇 𝒇(𝒙) = 𝒙𝟐    ,   𝒈(𝒙) = −𝒙 + 𝟏  then find 

       a)  𝒇 𝒐 𝒈(𝒙)                                                                                          b)  𝒈 𝒐𝒇 (𝒙)                                                    
 

 

 

 

 

 

 

         𝒄) 𝒇(𝒈(−𝟐))                                                                                   𝒅) 𝒇(𝒈(𝟑𝒂)) 

 

 

 

 

 

 

 



                                                                      4.2  

1)  Find the inverse relation.   {(−𝟕, 𝟎), (𝟒, 𝟓), (𝟖, 𝟏𝟐), (−𝟑, 𝟔)} 

 

 

 

 

2)  Find the inverse function. Then graph the function and its inverse function. 

    a)  𝒇(𝒙) =  − 𝟓𝟑 𝒙 − 𝟖                                                                                       b)   f(x) = 𝒙𝟐 − 𝟑 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

           

           

            

           

           

           

           

           

           

           

           

           



         3)  Determine whether each pair of functions are inverse functions. Write yes or no 

         a)    𝒇(𝒙) = 𝟏𝟐 𝒙 + 𝟓  
               𝒈(𝒙) = 𝟐𝒙 − 𝟏𝟎 

 

 

 

 

 

 

 

 

 

 

 

b) 𝒇(𝒙) = 𝟑𝒙 + 𝟐 

              𝒈(𝒙)  = 𝒙𝟐 − 𝟐 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



4.3 

1) Identify domain and range of f(x) = √𝒙 + 𝟔  + 2 

 

 

 

 

 

2)  Graph the function. State domain and range of a function. 

    𝒇(𝒙) = 𝟑  ∙ √𝒙 − 𝟏 

           

           

           

           

           

           

           

           

           

           

           

 

3) Graph the inequality             𝒇(𝒙) >  √𝟐𝒙 − 𝟏 − 𝟑 

 

 

           

           

           

           

           

           

           

           

           

           

           

 

 



4.4 𝑵𝒕𝒉  𝑹𝒐𝒐𝒕𝒔 

1) Simplify 

 a)    ±√𝟏𝟐𝟏 𝒙𝟒𝒚𝟏𝟔                                                                                                     b) −√(𝒙𝟐 + 𝟏𝟔)𝟏𝟐 

 

 

 

 

 

 

 

c) √𝟖𝒂𝟔𝒃𝟏𝟐𝟑
                                                                                                 d) √𝟐𝟓𝟔 (𝟓𝒙 − 𝟏𝟐)𝟏𝟐𝟒

 

 

 

 

 

 

 

 

 

 

e) √−𝟔𝟒𝒚𝟖𝒁𝟔                                                                                      f)  ) √ (𝒙 − 𝟏𝟐)𝟔𝟑𝟕
 

 

 

 

 

 

 

 

 

 

 

2) Use a calculator to approximate each value to three decimal places. 

a) √𝟗𝟐                                                                                         b) √(𝟖𝟗𝟏𝟐)𝟐𝟔
 

 

 

 

 

 

 

 

 

 



3) 

  

 

 

 

 

 

 

 

 

 

4.5 Operations with radical expressions 

1. Simplify 

 

a)√𝟏𝟒𝟒𝒙𝟕 𝒚𝟓                                                                 b) 
√𝒄𝟗√𝒅𝟗                                         c) √𝟓𝒙𝟖𝒚𝟒

            

 

 

 

 

 

 

d) 𝟓 ∙ √𝟐𝒙  ∙ 𝟑 √𝟖𝒙                                       d) 𝟑 ∙ √𝟑𝟔𝒙𝒚𝟑   ∙ 𝟐 √𝟔𝒙𝟐𝒚𝟐𝟑
                            e)  (𝟒 + 𝟐√𝟓)(𝟑√𝟑 + 𝟒√𝟓) 

 

 

 

 

 

 

 

 



f)   
𝟓√𝟐+𝟑                                                                        g) 𝟒√𝟒𝟎 − √𝟐𝟎𝟎                           h)

𝒙+𝟏√𝒙−𝟏 

 

 

 

                                                                                                                            
 

 3) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



                                                                      4.6 Rational Exponents 

 

 

 

 

 

 

 

2)  Evaluate each expression  

a) 𝟖𝟏−𝟏𝟒                                                                           b) 𝟐𝟓𝟔 𝟏𝟒   
 

 

 

 

 

 

 

 

3) Simplify  

 
 

 
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

4) Find the radius r of the sphere with Volume V is given by  𝒓 = (𝟑𝒗𝟒𝝅)𝟏𝟑. Find the radius of a ball with a volume of    

77𝑐𝑚3  

 

 

 

 

 

 

4.7 Solving Radical equations and inequalities. 

1) Solve the following equations: 

 a)  √𝟐𝒙 + 𝟓 − 𝟒 = 3                                                                               d ) √𝒙 − 𝟑     =    √𝒙 + 𝟒 − 𝟏 

 

 

 

 

 

 

 

b) (𝟒𝒚)𝟏𝟑 + 𝟑 = 𝟓                                                                        e) √𝒏 + 𝟖𝟑  − 𝟔  = -3 

 

 

 

 

 𝒄) (𝟐𝒚 + 𝟔)𝟏𝟒  − 𝟐 = 0                                                                   𝒇) √𝟐𝒕 − 𝟕  =  √𝒕 + 𝟐 

 

 

 

 

 

 



 

2) Solve each inequality 

 

a) √𝟑𝒙 + 𝟒 − 𝟓 ≤ 𝟒                                                 b) 𝟐 + √𝟒𝒚 − 𝟒 ≤ 𝟔                                   c) -2 + √𝟗 − 𝟓𝒙  ≥ 𝟔 

 

 

 

 

 

 

 


